OFoA A, B, CE =27} 535t Al __6km.  3km_
npZolth, AukEat BukS Ato]o] ARl A B C ©
6km, BUF=}F CHb Afo]o] Ag]= 3kmo|th. o] & 9o &
shte] o2 mhZo] Ql=dl, 11 vkt A Abo] 9] ARl 1 ukEat C
uh-g Aol ] Ag] o] 2ufjoltt, 1 uhE¥ BulE Afo] 2] A7=?

@ 6km @ 9km ® 12km

@ 15km ® 18km



2. Al A A2,1),B(4,3), C(a,0)°f thste] AC = BC7FAARET o, A<=
a2 e dupelzy

@1 @ 2 ® 3 @ 4 ® 5



o2 #HAEEH ) Az 2 U H A, B, C, Dol tigt dgoltt.

1. 4 ASHEBx= xS fl ek

2. 4B xFEE Y A HEHET A}
3. AB=AC=BC

4. BC=BD=CD

A, B, C DO xHEE A% a b, ¢, d T o, o
?

Q.
25

o

©
-

=
K

PO 2
Tlo

D a<b<c<d @ a<c<b<d ® a<c<d<b

@ c<a<b<d ® c<a<d<b



F A A-1, 2), B4, 54 &2 Aol = x5 A A Pehy=
9ol MQ o] FxE 52

@® P(2.4,-1), Q(0, 6) @ P(3.6,0), Q(-1, 6)
® P(3.6, 0), Q(0, 6) @ P(2.4,0), Q(0, 5)
® P(3.6,0), Q(-1, 2)



® ©
/NN

| = O =

=W
N——

N—

2 (
°

11
73
11
84

)
)

@ (

11
83

)



5 A A2,-1), B(6,3) oA &2 Aol e x= 912 AS P, y=
A HE Qe & ul, a0PQ O] MY HEE (x, y) 2t T W, x+y
o] gk Fotofet (2 O+ ¥X)

>
=%



7. FHEFW o] T H Aa,b), B(-2, 2)7F Atk o] 0, Va2 + 5% +
V0e+277 + (-2 9 AR

1 @2 O®2 ®2v2  ©®3



£ A A 5),B(7, 1) o choto] A3 AB & 1 (1-1) 2 vRebe
AP 7HA 1 AFREA Q1S o, ¢ 9 Zre] FY=? (Hho<r<1

. 5
0<t<— N
D O0<r<g ®0<i<?

@g<t<1 ® 3 cpe?



Ul A A(L,4), B(-2,-3), C(x.y), D(6,7)E Ul FAH LR 5k At
Ztgo] YA A o] H=S sk Y 0 9] HFRE?

@ C(-1, 2) @ C(3, 0) ® C(3, 4)
@ Cc(, -1) ® (0, 0)



10.

AABC ©] Al B ABC ¢ #x &

81 LA 9] o] SR Ao
o, 3(a - b) 2] L2

D1 @ 2

| ¥ BC &} gt

242}
a



@ y=2x-1

® y=-x+2

®y=-2x+1



12. Al H A(-1,-4),B(3,-3), C(7,1) T FEHHA 9] & P o ti5t9
AP’ +BP” 4+ CP° o] H4:3+2?

@ 46 @ 45 ® 44 @ 43 ® 42



A EA A, B, C7HZEE9] BAHS ol =0l 9134 9lek. 048
A3 s b o] $4NA 2t EAZH SASHE] Sk v]ge
FALNA 1 EAZAY A o AF| Goll veFeiy et o

[e)
H
w5 8 MR she S840 91K

L

—_

@ 24 @ WA ® 4

@ FASA ® %A



14. F 3 A@3, 2), B(a, b) & At A4 7I=717F2 o] 4, o] Azt
Adx+2y-3=0° ZH2AZABE2 : 1 & HY&ok= Holth
ol W, 3a+b 9] #27

® 3 @ 5 ®7 @ 9 ® 10



15.

M (a-2)x-y-b+1
45° o)1,

D1

]
=

(1, 0) = Al

@ 2

0°]
ER

x %] o] Wt ol 2 2]

,a+ b2 g7

® 3 @ 4

® 5

717t



16.

St

oty = 22 o = 919 £ A Pa, b)
Qle. ) 1 st YEVE _y o
PQY 7&7|=7(H 0<a<c)

(RO

o 3
®§ ®2 @5 @1 @

| =




17.

%A (4,-2),(2,-3) 2 ALk 4

Ot &, AOAB 9] ¥4

D S
=%



18.

A xtay-1=0 x5,y Fo| Fo| F2L=2 F2P

ol ; 4wl a o 3k Tokofek (2a>0)

Rl Eia=

o] AHzZy

—

k4]



19. #uwd 9o A2 o2 Al d A(-2k - 1,5) B(k, -k — 10), C(2k +
5,k=1)7F LA ol A= o, ko g H& F-5hH?

D L
-



20.

Z‘]ﬁ ax+by+c: Ooﬂ EHT_):I'O:] ab < 0, bc > 0(1)2‘| Dﬁ, O] 7_4]/80] Z]l’]-Z]
o ARG Fafola},

a Ck: A - AHEH



21.

A A0,2), B(2,0), C(3,3) &2 o]Fo3 4ZFABC 7} Ut

AABC 7F AA (k+ Dx+ (k= 1)y = 2(k
PO & o2 H, 3t Z9] Go|7l thE &
= otelet (& k= Agolth)

D R
=%

1

Hol

of olaf 5 o) =
of 5 a7} 2 v &



